
'THIS NOW BECOMES THE BASIC EDUCATIONAL SYSTEM FOR THE YOUNG.



THIS IS CHILDÍS PLAY FOR A YOUNG INDIAN, AND, REMEMBER! WE ARE DEALING WITH A 
COMMUNICATION SYSTEM IN GENETICS. THE PROBLEM SHOULD BE REVIEWED IN A STATE OF MTNIT THAT 
VO" "

HY... IROULEL­1 SHUULU un; REVIEWEL IN A STATE 
OF MIND, THAT YOU HAVE A SECRET HELPER THAT WILL HELP YOU IN ALL THE TOUGH PLACES. WHEN YOU 
TRY OR RELAY SOLELY ON YOUR OWN EGOISTIC CENTER OF INTELLIGENCE, YOU CLOSE OFF ANY 
COMMUNICATION FROM YOUR GENETICS.

NOW WE TAKE 180 UNITS OF TIME WITHOUT LIGHT, MULTIPLE BY 12 = 2160 WHAT YOU HAVE BEEN SHOWN, 
IS SOUGHT BY EVERY ANTIQUITY AND ANTHROPOLOGIST IN EVERY MAJOR COUNTRY IN THE WORLD. 
THIIB 2160 JB THE FIRST TABLE OF 200,THA­TARECALLED­TIMES OF THE BEASTS, WINTER TABLES,SATAAN'S 
TABLES.

WHAT THE DAKOTA(SIOUX)CALL T H E W I N T E R C O U N T . SO THE 2160 UNITS ARE THE SECOND SYSTEM 
OF THE AMERICAN INDIAN, AND IT IS TIME WITHOUT LIGHT. ANY ABSRACT LOGIC CONCLUSION WOULD 
DICTATE frlnzxfl" TQ wr­D T"

„____­.. WUUJJU U. THAT TIME IS TIME, WHERE IS 
THE DIFFERENCE? LET US SEE IF TIME IS TIME WITH OR WITHOUT LIGHT.

LET'S FIND THE DIFFERENCE IF THERE IS ANY. 181 UNITS IS WITH LIGHT AND 180 UNITS IS WITHOUT LIGHT. 
REMEMBER THIS IS CH]I.D'S PLAY. THERE ARE 86,400 SECOND IN ONE DAY­DIVIDE BY 181 UNITS _"_T “Y

­ ,___ _.. „,...._. „UI D1 L EQUÀLS=477.34806 SECONDS 
FOR EVERY INDIAN UNIT. 181 TIMES 477.34805:

IF THERE ARE 477.34806 SECONDS IN EVERY INDIAN UNIT, HOW MUCH TIME E THERE IN 180 UNITS? 
477.348Ü6 TIME 180=85,922.6508' SECOND IN ONE DÄY WITHOUT LIGHT. 85922.6508 DIVIDE 6OSECONDS­ 
l432.0442 MINUTES DIVIDE 60 MINUTES= 23.86703 HOURS. 24HOURS SUBTRACT 23.867703= .132597 OR 7 7.95582 
MINUTES.

NOW COMES THE EASY PART, BECAUSE EVERYONE KNOWS ABOUT THE SPEED OF LIGHT. LET'S SEE 
HOW THE AMERICAN INDIAN CALCULATES THE SPEED OF LIGHT

THE SUN IS 93 MILLION MILES FROM THE EARTH AND IT TAKES 477.34806 SECONDS TO REACH EARTH. 
DIVIDE THE PROBLEM. THE AMERICAN INDIAN STATES ‘P14113 mv W­ H’

_ 4.1.4.1.: 'PHE SPEED OF LIGHT IS TRAVELING 
194,826.39 MILES PER SECOND.

GUESS WHAT? WE HAVE A DIFFERENCE. A 4.53038% DIFFERENCEI CAN THE WHITE CIVÍILIZED 
SCIENTIST ACCOUNT FOR THE DIFFERENCE OR IS JUST THE THE CALCULATIONS WERE DONE BY AN 
ABORIGINAL WHO HAD NO SCIENCES IN THEIR CULTURE. »

I WAS TAUGHT THE REASON FOR THE DIFFERENCE LONG BEFORE THE GOVERNMENT TOOK ME AND 
PUT ME IN A GOVERNMENT INDIAN SCHOOL TO LEARN THE ENGLISH LANGUAGE, BY MY INDIAN 
GRANDMOTHER WHO SPOKE NO ENGLISH AND NEVER HAD ATTENDED ANY WHITE SCHOOL. THIS 
TEACHING HAS NEVER BEEN EQUALLED IN MY LIFE, AND NO SCHOLAR CAN ADD OR DEDUCT FROM


